ACC 3302 – Taxation

Department of Accounting

Tutorial 01

1) Mr. Perera is an employee of a private sector company. He received followings in connection of his employment.

Gross Salary (40,000 * 11)


440,000

Bonus (from profits related to 2003)

  30,000

Commissions




  70,000 



Entertainment Allowances (Note 1)

  30,000



Reimbursement Medical Expenses

  10,000



Payments of his TP Bill


    2,000 










582,000



Deductions – 
EPF 

38,400





PAYE

10,000

(48,400)





Net Employment Income 



533,600







         
        =========

Note 1

The Entertainment allowances were given to Mr. Perera for the entertainment of customers.

Note 2

The bones income was received on 06th April 2004.

Note 3

Mr. Perera was given a house rent free. The rating assessment of the house is Rs. 150,000/- and rates are paid at the rate of 30%. The employee has paid Rs. 15,000 pm. as rent to the owner of the house.

Note 4

Mr. Perera was given a motor vehicle where he uses it for his private traveling as well. He doesn’t maintain a proper running chart 

Calculate the employment income at Mr. Perera for the Y/A 2004/2005 

2) Mr. Silva retired from his employment in June 2004. He received a retirement gratuity of Rs. 1,900,000/-. 

Also, he received his EPF moneys as follows;

Employee’s contribution

Rs. 1,200,000

Employee’s contribution

Rs.    800,000

Investment income


Rs.    200,000

ETF contribution received was Rs. 600,000 and investment income on it wad Rs. 60,000

Additional Details 

· Mr. Silva’s last 3 years’ average monthly salary was Rs. 30,000/- and he had worked for 15 years

· All the above investment income was relating to after 01/04/1987

Required: compute the tax on retirement benefits received for the Y/A  2004/2005

3) Mr. Dayananda is an employee of a private company and he was provided with home. Compute the benefit of home on employment for Mr. Siva in under following situations.

I. Rating assessment of the house owned by the employer is Rs. 200,000/- and the rates are paid by the company is at the rate at 30%

II. In addition to I , the house is furnished

III. The house is not owned by the employer and he pays a rent of Rs. 30,000/-p.m.

IV. Employer pays a rent of Rs. 30,000 /- and Mr. Dayananda reimburses Rs. 10,000/- p.m. to the company.

4) Give short answers

I. According to the Inland Revenue Act, a person has to pay tax in his own name. In this Act it self it is clearly stated that a partnership is not a ‘person’. Hence, it can be concluded that a partnership doesn’t have to pay tax in its own name. Do you agree?

II. How would a residency of a person have an impact over the income taxation?

III. “Income arising out of illegal business is not taxable”. Do you agree?

IV. In deciding whether a trade/business was carried out or not what are the deciding criteria to be used?

5)
What do you understand by the terms:

· Isolated transactions

· Adventure in the nature of trade

How does these terms related to the cases of Mahawitharana Vs CIR and Ram Iswara Vs CIR

6)
Mr. S, a retired government servant was appointed as an arbitrator for arbitrating a conflict for a fee of Rs. 15,000/-. He was assessed for this sum as an other income source. But, he claims that this was the only one arbitration he had done on his entire life and is of casual nature. So as a casual receipt that income is not taxable. Do you agree?

